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Problem 1. Consider the sequence given by a; = 9 and a,+1 = % (a,. + Ei)
foralln > 1.

a. Suppose the sequence converges to a value L. Find L.

b. Make a conjecture for whether the sequence is increasing or decreasing.

o

. If you believe the sequence is increasing, make a conjecture for an upper
bound for the sequence. If you believe it is decreasing, make a conjecture
for a lower bound for the sequence.

. Prove your conjectured bound using induction.

. Prove your increasing/decreasing conjecture.

lad

Make a conclusion.
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